MEDIUM TILT-UP TREE KIT

3/16" ALLEN KEY
Se 1 FOLDING BASE o TOPPER

2 STAR MOUNT 6 HOOP
3 TOPPER MOUNT 7 HARDWARE
4 MAIN POLE SECTIONS




g
STEP ‘| MATERIALS NEEDED
- TOPPER MOUNT
- TOPPER
5/16- 18 BUTTON HEAD ALLAN BOLTS (QUANTITY: 4)

STEPS:
1. MAKE SURE YOU HAVE THE TOPPER MOUNT, THE TOPPER, AND FOUR 5/16-18
BUTTON HEAD ALLAN BOLTS.

2. PLACE THE TOPPER IN THE DESIRED POSITION ON THE TOP OF MOUNT. ALIGN
THE MOUNTING HOLES ON THE TOPPER WITH THE THREADED HOLES ON THE
TOPPER MOUNT.

3.TAKE ONE 5/16-18 BUTTON HEAD ALLAN BOLT AND INSERT IT THROUGH ONE
OF THE HOLES ON THE TOPPER. SCREW IT INTO THE CORRESPONDING THREADED
HOLE ON THE TOPPER MOUNT. REPEAT THIS STEP FOR THE REMAINING THREE
BOLTS, ENSURING THAT EACH BOLT IS SECURE.

4. USE AN APPROPRIATE TOOL, SUCH AS AN ALLAN WRENCH, TO TIGHTEN THE BOLTS.
ENSURE THAT THEY ARE FASTENED SECURELY BUT AVOID OVERTIGHTENING, AS IT
MAY DAMAGE THE COMPONENTS.

STEP 2 BN B T 1
STEPS:

1.LOCATE THE FOLDING BASE AND ENSURE IT IS IN A SUITABLE POSITION FOR ASSEM-
BLY.

2.IDENTIFY THE FOUR LEG PINS ON THE FOLDING BASE. THESE PINS SECURE THE LEGS
IN PLACE WHEN THE BASE IS NOT IN USE. PULL EACH PIN OUT OF ITS RESPECTIVE LEG,
ONE AT ATIME.

3. WITH THE PIN REMOVED, GENTLY LOWER THE LEG DOWN. TAKE CARE NOT TO LET IT
DROP TOO QUICKLY AS IT MAY CAUSE DAMAGE.

4.ONCE THE LEG IS IN ITS LOWERED POSITION, ALIGN THE PIN WITH THE LOWER HOLE ON THE LEG. INSERT THE PIN BACK INTO THE
HOLE, ENSURING IT GOES THROUGH BOTH THE LEG AND THE BASE. PUSH IT IN FIRMLY TO SECURE THE LEG IN PLACE.

5. REPEAT FOR ALL LEGS: REPEAT STEPS 3 AND 4 FOR THE REMAINING THREE LEGS OF THE FOLDING BASE. MAKE SURE T0 PULL OUT
THE PIN, LOWER THE LEG SLOWLY, AND THEN REINSERT THE PIN INTO THE LOWER HOLE, SECURING IT IN PLACE.

6. ONCE ALL FOUR LEGS HAVE BEEN LOWERED AND PINNED BACK INTO PLACE, DOUBLE-CHECK THAT THEY ARE SECURELY ATTACHED T0
THE FOLDING BASE. GIVE EACH LEG A SLIGHT TUG TO ENSURE IT IS PROPERLY LOCKED AND STABLE.

GREAT JOB! YOU HAVE SUCCESSFULLY COMPLETED THE SECOND STAGE OF ASSEMBLY, ATTACHING THE LEGS TO THE FOLDING BASE. KEEP FOLLOWING THE REMAINING STEPS
T0 COMPLETE THE ENTIRE PROCESS.




STEP 3

MATERIALS NEEDED
- TWO PIECES OF THE FOUR-PIECE HOOP
- 5/16-18 BUTTON HEAD ALLAN BOLTS (QUANTITY: 4)

STEPS:
1.CHOOSE TWO PIECES FROM THE FOUR-PIECE HOOP SET. THESE WILL BE USED TO
CONNECT THE THREE LEGS OF THE FOLDING BASE.

2. ARRANGE THE TWO HOOP PIECES IN A LINE, ALIGNING THEM WITH THREE LEGS OF
THE FOLDING BASE. ENSURE THAT THE HOOP PIECES ARE ORIENTED CORRECTLY,
WITH THE EYELET HOLE FOR THE ANCHOREASE AND THE KNOB TO SECURE THE POLE
ON THE SAME SIDE AS THE HOOP PIECES.

3. AT THIS POINT, YOU MAY NEED TO ADJUST THE LEG EXTENSIONS TO ENSURE
PROPER ALIGNMENT WITH THE HOOP PIECES. MAKE ANY NECESSARY ADJUSTMENTS
T0 ENSURE A PROPER FIT.

4. INSERT TWO 5/16-18 BUTTON HEAD ALLAN BOLTS INTO EACH CONNECTION
POINT WHERE THE HOOP PIECES OVERLAP THE LEGS. USE A TOTAL OF FOUR BOLTS
T0 SECURE THE HOOP PIECES TO THE THREE LEGS.

5. USE AN APPROPRIATE TOOL, SUCH AS AN ALLAN WRENCH, TO SNUGLY FASTEN
THE BOLTS. ENSURE THAT THEY ARE TIGHTENED ENOUGH TO HOLD THE HOOP PIECES
IN PLACE, BUT KEEP THEM SLIGHTLY LOOSE TO ALLOW FOR ADJUSTMENTS.

6. VERIFY FOLDING BASE MOVEMENT: CHECK THAT YOU CAN STILL FOLD THE BASE
WITH ONE LEG AND NOTHING OBSTRUCTS ITS FOLDING MOTION. ENSURE THAT THE
HOOP PIECES ARE CORRECTLY POSITIONED TO ALLOW SMOQTH FOLDING.

CONGRATULATIONS! YOU HAVE COMPLETED STEP THREE OF THE ASSEMBLY. THE
HOOP PIECES ARE SECURELY ATTACHED TO THE THREE LEGS OF THE FOLDING BASE.
PROCEED WITH THE REMAINING STEPS TO FINISH THE ASSEMBLY PROCESS.




MATERIALS NEEDED
- TWO SECTIONS OF THE POLE
- 5/16-18 BUTTON HEAD ALLAN BOLTS (QUANTITY: 4)

STEPS:
1. GATHER THE TWO SECTIONS OF THE POLE AND FOUR 5/16-13 BUTTON HEAD
ALLAN BOLTS.

2. TAKE THE CENTER SECTION OF THE POLE AND SLIDE IT ONTO THE LOWER
SECTION. MAKE SURE THE SECTION WITH THE KNOB IS STICKING OUT AND THE
THREADED HOLES ALIGN BETWEEN THE SECTIONS.

3. SLIDE THE SECTIONS TOGETHER UNTIL THEY ARE ALIGNED PROPERLY AND SECURE
THEM WITH FOUR OF THE BOLTS. INSERT TWO BOLTS INTO THE THREADED HOLES ON
OPPOSITE SIDES AND TIGHTEN THEM SECURELY.

4. TAKE THE ASSEMBLED TOPPER MOUNT AND TOPPER AND SLIDE THEM INTO THE
TOP OF THE POLE SECTION. MAKE SURE THEY FIT PROPERLY AND SECURELY.

5. ADJUST THE TOPPER HEIGHT: USE THE SUPPLIED PIN TO SELECT THE DESIRED
HEIGHT OF THE TOPPER. SLIDE THE PIN INTO THE APPROPRIATE HOLE TO FIX THE
HEIGHT. NOTE THAT YOU WILL FINE-TUNE THE TOPPER HEIGHT IN THE NEXT STEP.

CONGRATULATIONS ON COMPLETING STEP FOUR! YOU HAVE ASSEMBLED THE TWO-
SECTIONS OF THE POLE AND ATTACHED THE TOPPER MOUNT AND TOPPER. PROCEED
T0 THE NEXT STEP TO FURTHER ADJUST THE TOPPER HEIGHT.




STEP 5

STEPS:
1. CAREFULLY PLACE THE PARTIALLY ASSEMBLED FOLDABLY BASE ONTO ITS SIDE,
ENSURING THAT IT IS STABLE AND WILL NOT TIP OVER DURING ASSEMBLY.

2. TAKE THE ASSEMBLED POLE AND SLOWLY SLIDE IT INTO THE BASE. PAY ATTEN-
TION TO ALIGN THE POLE WITH THE OPENING IN THE BASE.

3. BEFORE FULLY INSERTING THE POLE INTO THE BASE, ENSURE THAT THE KNOB ON
THE BASE IS FULLY LOOSENED. THIS WILL PREVENT ANY OBSTRUCTIONS WHILE
INSERTING THE POLE.

4. GENTLY PUSH THE POLE ALL THE WAY DOWN UNTIL IT IS SECURELY SEATED AT
THE BOTTOM OF THE BASE. TAKE CARE NOT TO FORCE IT, AS IT SHOULD SLIDE IN
SMOOTHLY.

5. ONCE THE POLE IS FULLY INSERTED INTO THE BASE, TIGHTEN THE KNOB SECURE-
LY. THIS WILL FASTEN THE POLE TIGHTLY TO THE BASE, ENSURING STABILITY.

6. PLACE THE CARABINERS ALL THE WAY AROUND THE TOP OF THE POLE. ENSURE
THAT THEY ARE PROPERLY SECURED AND EVENLY DISTRIBUTED.

7. USE A TAPE MEASURE TO MEASURE THE DISTANCE FROM THE BOTTOM OF THE
CARABINER TO THE HOOP. THIS WILL HELP DETERMINE IF THE TOP IS SET AT THE
PROPER HEIGHT FOR THE LIGHT STRIP OR LIGHTING YOU PLAN TO USE.

8. ADJUST THE TOPPER HEIGHT: BASED ON THE MEASUREMENT IN THE PREVIOUS
STEP, ADJUST THE TOPPER HEIGHT ACCORDINGLY. SLIDE THE TOPPER UP OR DOWN
ON THE POLE TO ACHIEVE THE DESIRED HEIGHT FOR YOUR PROJECT.

MAKE SURE TO TIGHTEN ANY SCREWS OR KNOBS AFTER MAKING ADJUSTMENTS TO
ENSURE A SECURE FIT.

GREAT! YOU HAVE COMPLETED STEP FIVE AND ADDED THE ADDITIONAL STEPS FOR
ATTACHING CARABINERS, MEASURING, AND ADJUSTING THE TOPPER HEIGHT.
CONTINUE TO THE NEXT STEP TO COMPLETE THE ASSEMBLY PROCESS.




STEP 6

STEPS:
1.BEGIN BY ATTACHING ALL YOUR LIGHT STRIPS TO THE TOPPER. MAKE SURE TO
SECURE THEM TIGHTLY AND EVENLY DISTRIBUTE THEM AROUND THE TOPPER.

2.ONCE THE LIGHT STRIPS ARE ATTACHED TO THE TOPPER, SECURE THEM TO THE
HOOP ON THE SIDE THAT IS ALREADY MOUNTED. THIS WILL HELP KEEP THE LIGHT
STRIPS IN PLACE.

3. AT THIS POINT, THE INSTRUCTIONS MAY NOT MAKE COMPLETE SENSE WITHOUT
THE OTHER SIDE OF THE HOOP BEING ATTACHED. HOWEVER, IF YOU ARE READY TO
TILT THE TREE UP, PROCEED AS FOLLOWS.

4. BEGIN BY STANDING AT THE BASE OF THE POLE AND HOLD ONTO THE POLE JUST
BELOW THE TOPPER.

9. USE YOUR HANDS TO GUIDE THE POLE UPWARDS, SLOWLY WALKING IT UP FROM
UNDERNEATH. ENSURE THAT THE POLE REMAINS STRAIGHT AS YOU LIFTIT.

6. ONCE THE POLE IS STANDING STRAIGHT UP, REINSERT THE PIN INTO THE LEG T0
SECURE IT IN AN UPRIGHT POSITION. MAKE SURE THE PIN IS FULLY INSERTED AND
SEATED SECURELY.

NOTE: EXERCISE CAUTION AND ENSURE YOU HAVE ENOUGH SUPPORT WHILE TILTING
THE TREE UP TO PREVENT ANY ACCIDENTS OR INJURIES.

GREAT WORK! YOU HAVE COMPLETED STEP SIX ATTACHING THE LIGHT STRIPS, AND
TILTING THE TREE UP. CONTINUE WITH THE FINAL STEPS TO FINISH THE ASSEMBLY
OF YOUR TILT-UP TREE.

BONUS STEP - MOUNTING A STAR ON TOP OF YOUR TREE:

TAKE THE STAR MOUNT PROVIDED AND ENSURE THAT IT IS ASSEMBLED ACCORDING TO YOUR STAR.
IDENTIFY THE CENTER THREADED HOLE ON THE TOPPER MOUNT.

POSITION THE ASSEMBLED STAR MOUNT IN THE CENTER THREADED HOLE, ALIGNING IT CORRECTLY.
USE A 5/16-18 BUTTON HEAD ALLEN BOLT SECURELY FASTEN THE STAR MOUNT IN PLACE.

ONCE THE STAR MOUNT IS ATTACHED SECURELY, PLACE YOUR DESIRED STAR ON TOP OF THE MOUNT.
ADJUST THE STAR AS NEEDED TO ENSURE IT IS STRAIGHT AND CENTERED.




MATERIALS NEEDED
- TWO PIECES OF THE FOUR-PIECE HOOP
- 5/16-18 BUTTON HEAD ALLAN BOLTS (QUANTITY: 4)

STEPS:

1. REPEAT STEP THREE FOR THE OTHER SIDE OF THE FOLDING BASE: FOLLOWING THE
INSTRUCTIONS FROM STEP THREE, ATTACH THE OTHER TWO PIECES OF THE HOOP TO
THE OTHER SIDE OF THE FOLDING BASE. ENSURE ALL THE BOLTS AND FASTENERS
ARE SECURELY TIGHTENED.

2.ONCE BOTH SIDES OF THE HOOP ARE ATTACHED, CHECK THE FITMENT AND ALIGN-
MENT OF ALL THE HOOPS. ENSURE THAT THEY ARE PROPERLY ALIGNED AND
SECURELY ATTACHED TO THE LEGS AND BASE.

3. ATTACH AND SECURE YOUR LIGHT STRIPS TO THE REMAINDER OF THE HOOP. MAKE
SURE THEY ARE EVENLY DISTRIBUTED AND PROPERLY SECURED.

4. DOUBLE-CHECK THAT ALL HARDWARE, INCLUDING BOLTS AND FASTENERS, IS
SECURELY TIGHTENED. THIS WILL ENSURE THE STABILITY AND SAFETY OF THE
TILT-UP MEGATREE.

5. WITH ALL THE STEPS COMPLETED, CONGRATULATIONS ON ASSEMBLING YOUR
TILT-UP MEGATREE! ENJOY THE BEAUTIFUL LIGHTING DISPLAY AND CREATIVE
OPPORTUNITIES IT OFFERS.

WELL DONE! YOU HAVE SUCCESSFULLY COMPLETED STEP SEVEN, WHICH INVOLVES
REPEATING STEP THREE FOR THE OTHER SIDE OF THE FOLDING BASE, CHECKING THE
FITMENT OF ALL THE HOOPS, SECURELY FASTENING THE LIGHT STRIPS, AND
CONFIRMING THE COMPLETION OF YOUR TILT-UP MEGATREE.




ﬁ%
AsSsSEMBLY
INSTRUCTIONS




